
MATH 3160 - Probability - Fall 2017
Quiz 1, Wednesday September 6

You may leave your answer in terms of sums, products, factorials or binomial coefficients, and fractions. There
is NO need to simplify. NO calculators are needed.
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In a fictional country, the congress consists of 400 members of the house of representatives, and 100 senators.

There are two political parties, A and B. The house of representatives and the senate are both equally split
between these two parties. They decided to take all decisions at random.

(1) In how many ways they can choose the president and vice present of the senate, if there are no restrictions
on their party affiliation?

Solution: 100 · 99
(2) In how many ways they can choose the president and vice present of the senate, if they agreed to be

from different parties?
Solution: 100 · 50 = 2 · 502

(3) In the house of representatives, how many ways are to select a committee of 20 members, if it has to be
equally split between the parties A and B?

Solution:

(
200
10

)2

(4) In the house of representatives, 2 members are chosen at random. What is the probability that they will
be from different parties?

Solution:
200

399
=

(
200
1

)2

/

(
400
2

)
=

2 · 2002

400 · 399
(5) Suppose 3 senate members are chosen at random. What is the probability that they will be from one

party?

Solution:
49 · 48

99 · 98
=
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